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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you begin to answer the questions.
This Booklet contains questions in English as well as in Hindi.

iz'uksa ds mÙkj nsus ls igys fuEufyf[kr vuqns'kksa dks è;ku ls i<+ ysaA
bl iqfLrdk esa iz'u vaxzsth rFkk fgUnh nksuksa esa fn;s x;s gSaA

RRB ALP : 0015

Time Allowed : 60  Minutes Maximum Marks  : 75

fu/kZfjr le; % 60 feuV vf/dre vad  % 75

Test Form No.

VsLV iQkWeZ laú
15 KD RRB ALP

RRB ALP CBT-I- 2 0 24
MOCK TEST PAPER - 15

6. Questions of  English Medium will be considered for evaluation

in case it differs in Hindi Medium.

7. Answers must be shown by completely blackening the

corresponding rectangles on Side-II of the Answer-Sheet

against the relevant question number by black/blue ball

pen only. Answers which are not shown by black/blue ball

pen will not be awarded any mark.

8. The Answer-Sheet must be handed over to the Invigilator

before you leave the Examination Hall.

9. Failure to comply with any of the above instructions will

render a candidate liable to such action/penalty as any be

deemed fit.

10. The manner in which the different questions are to be

answered has been explained in the OMR form which you

should read carefully before answering the questions.

11. Answer the questions as quickly and as carefully as you

can. Some questions may be difficult and others easy. Do

not spend too much time on any question.

12. No Rough Work is to be done on the Answer-Sheet. Space

for rough work has been provided at the back of the booklet.

1. This Booklet contains 100 questions in all comprising
the following three parts:
Reasoning
Mathematics
General Awareness
General Science

2. All questions are compulsory and carry one mark each.
3. Before you start to answer the questions you must check

up this Booklet and ensure that it contains all the pages
(1-10) and see that no page is missing or repeated. If you
find any defect in this Booklet, you must get it replaced
immediately.

4. For every wrong answer 0.33 marks will be deducted
from the correct answer.

5. You will be supplied the Answer-Sheet separately by
the Invigilator. You must complete the details of Ticket
Number, Roll Number and Test Form Number on Side-
I of the Answer-Sheet carefully before you actually start
answering the questions. You must also put your
signature on the Answer-Sheet at the prescribed place.
These instructions must be fully complied with, failing
 which your Answer-Sheet will not be evaluated and
you will be awarded ‘ZERO’ mark.

bl iqfLrdk dh lhy rc rd u [kksysa tc rd dgk u tk,
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1. What is the value of

Cos24°+Cos5°+Cos175°+Cos204°+Cos300°.

Cos24°+Cos5°+Cos175°+Cos204°+Cos300°

eku D;k gSA

(A) 1/2 (B) –1/2

(C)
3

2
(D) None/dksbZ ugha

2. A rhombus has perimeter 60 metre and
one of the angle is 60°. Find the area

of the rhombus(in metre2).

,d leprqHkZt dh ifjf/ 60 eh- gS vkSj ,d dks.k 60°

gS] rks leprqHkZt dk {ks=kiQy (oxZ ehVj esa) Kkr djsaA

(A)
196 3

2
(B)

225 3

2

(C)
216 3

2
(D)

289 3

2

3. When the price of sugar decreased by
10% a man can purchase more than 1
kg sugar in `270, then the original
price of sugar per kg is-

phuh ds ewY; esa 10% dh deh gksus ds dkj.k] ,d
O;fDr `270 esa 1 fdxzk- phuh vf/d [kjhn ldrk

gS rks izfr fdxzk- phuh dk vkjfEHkd ewY; Kkr djsa&

(A) `30 (B) `27

(C) `25 (D) `32

4. If 2x + 
1

3x
= 6 , then the value of 9x2

+ 2

1

4x
.

;fn 2x + 
1

3x
= 6, rc 9x2 + 2

1

4x
dk eku gS&

(A) 81 (B) 84

(C) 78 (D) 39

5. A train 100 metres long meets a man
going in opposite direction at 5km/hr

and passes him in 
1

7
5

seconds. What

is the speed  of the train (in km/hr)?

,d 100 eh- yach jsyxkM+h foijhr fn'kk es 5 fdeh@?kaVk

dh xfr ls vk jgs ,d vkneh dks 
1

7
5
lsds.M es ikj

djrh gSA jsyxkM+h dh pky(fdeh@?kaVk esa) D;k gS\

(A) 45 km/hr/fdeh-@?kaVk

(B) 50 km/hr/fdeh-@?kaVk

(C) 60 km/hr/fdeh-@?kaVk

(D) 55 km/hr/fdeh-@?kaVk

6. Which amount will be `520 in 5 years
and `568 in 7 years at the rate of simple
interest?

dkSu lh /ujkf'k lk/kj.k C;kt dh nj ls 5 o"kkZsa esa

`250 vkSj 7 o"kksZ esa `568 gks tk,xh\

(A) `220 (B) `120

(C) `510 (D) `400

7. The ratio of current age of father and
son is 8 : 3 and the current  age of
father will be doubled to the age of his
son after 8 years. Find the father's

current age.

firk vkSj iq=k dh orZeku vk;q dk vuqikr 8 : 3 gS rFkk
firk dh orZeku vk;q iq=k dh 8 o"kZ ckn dh vk;q dh

nks xquh gks tk;sxhA firk dh orZeku vk;q Kkr djksA

(A) 96 (B) 88

(C) 64 (D) 32

8. The sum and product of two numbers
are 12 and 35 respectively. What will

be the sum of their reciprocals?

nks la[;kvksa dk ;ksx rFkk xq.kuiQy Øe'k% 12 rFkk

35 gS muds O;qRØeks dk ;ksx D;k gksxk\

(A)
35

12
(B)

12

35

(C)
7

6
(D)

6

7

9. A number X is divisible by 7 when this
number is divided by 8, 12 and 16, it
leaves a remainder 3 in each case. The
least value of X is -

,d la[;k X, 7 ls foHkkT; gSA tc bl la[;k dks 8,

12 vkSj 16 ls foHkkftr fd;k tkrk gS rks izR;sd

ekeys esa 'ks"kiQy 3 jgrk gSA X dk U;wure eku gS&

(A) 149 (B) 161

(C) 140 (D) 147

10. If 0 < x <
2


 and Secx = Cosecy, then

the value of tan
2

x y 
   .

;fn 0 < x <
2


 vkSj Secx = Cosecy rc

tan
2

x y 
    dk eku gSA

(A) 0 (B) 3

(C)  (D) 1

11. In what ratio, a mixture of 20% alcohol
to be mixed with another mixture of
40% alcohol to get a new mixture of
28% alcohol?

28% vYdksgy okyk ,d u;k feJ.k izkIr djus ds
fy,] 20% vYdksgy okys feJ.k dks] ,d nwljs
40% vYdksgy okys feJ.k ds lkFk fdl vuqikr es

feyk;k tk,\

(A) 3 : 2 (B) 2 : 3

(C) 5 : 3 (D) 3 : 5

12. A man rows upstream 36 km taking 6
hours and downstream 48 km taking the

same time. The speed of the current is -

,d O;fDr us 6 ?kaVs esa 36 fdeh- /kjk dh izfrdwy
fn'kk esa vkSj mrus gh le; esa 48 fdeh /kjk ds izokg

dh fn'kk eas UkkSdk pykbZA /kjk dh xfr gS&

(A) 0.5 km/hr/fdeh-@?kaVk

(B) 1 km/hr/fdeh-@?kaVk

(C) 2 km/hr/fdeh-@?kaVk

(D) 1.5 km/hr/fdeh-@?kaVk

Instructions/fun s Z'k (13 - 14):-Carefully

study the following Pie Chart and answer
the given questions-

fuEUk ikbZ&pkVZ dk lko/kuh&iwoZd vè;;u dhft, ,oa
fn, x, iz'uksa ds mÙkj nhft,A

Percentage of sales of 5 differents brands
of shoes sold.

5 fHkUu czkaMksa ds twrksa dh fcØh dk izfr'krokj forj.k

Total number of shoes sold is 800.

csps x, twrksa dh dqy la[;k 800 gSA

A

B

C

D

E
16%

20%

24%

22%

18%

13. What is the corresponding central
angle of the number of shoes sold by
the brand 'C'.

czkaM C ds csps x, twrksa dh la[;k dk laxr dsUnzh;

dks.k D;k gS\

(A) 79.2° (B) 73.4°

(C) 72.8° (D) 71.5°

14. What is the total number of shoes sold
by brand A, E and D?

czkaM A, E, ,oa D dks feykdj csps x;s twrks dh dqy

la[;k D;k gS\

(A) 360 (B) 480

(C) 540 (D) 400

15. Anil is as much younger to Vivek as
he is older to Tarun. If the total of the
ages of Vivek and Tarun is 50 years,
how old is Anil?

vfuy foosd ls ftruk NksVk gS] r:.k ls mruk gh
cM+k gSA ;fn foosd vkSj r:.k dh vk;q dh ;ksx 50

o"kZ gks] rks vfuy dh vk;q Kkr dhft,&

(A) 23 (B) 26

(C) 24 (D) 25

16. If (2x + 17°), (x + 4°) are complementry
Angles of each other then the value of

x would be -

;fn (2x + 17°), (x + 4°) ,d nwljs ds iwjd dks.k

gSa rks x dk eku gksxk&

(A) 63° (B) 53°

(C) 35° (D) 23°

17. In the given  figure, PT = 5 cm, PA = 4
cm then what will be the value of AB?

fn;s x;s fp=k  esa] PT = 5 cm, PA = 4 cm, rc
AB dk eku D;k gksxk\

T

P
A B

(A)
7

4
cm/lseh- (B)

11

4
cm/lseh-

(C)
9

4
cm/lseh- (D)

13

4
cm/lseh-

18. A tank has two pipes. The first pipe can
fill it in 4 hours and the second can
empty it in 16 hours. If both pipes are
opened together at the same time, then
how long will it take to fill the tank?
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,d VSad esa nks ikbi gSaA igyk ikbi bls 4 ?kaVs esa Hkj
ldrk gS vkSj nwljk ikbi bls 16 ?kaVs es [kkyh dj
ldrk gSA ;fn nksuks ikbi  dks ,d lkFk leku le; ij

[kksyk tkrk gS] rks VSad dks Hkjus es fdruk le; yxsxk\

(A) 5
1

2
hours/?kaVs (B) 5

1

3
hours/?kaVs

(C) 5
1

4
hours/?kaVs (D) 5

1

5
hours/?kaVs

19. The mean of 11 numbers is 35. If the
mean of first 6 number is 32 and that
of the last six number is 37. Find the
6th number.

11 la[;kvksa dk ekè; 35 gSA ;fn igyh 6 la[;kvksa
dk ekè; 32 gS vkSj vafre 6 la[;kvks dk  37 gS rks

NBs uacj dk irk yxk,¡A

(A) 41 (B) 34

(C) 29 (D) 33

20. The ratio the two number is 7 : 8 and
their LCM is 392. The numbers are-

nks la[;kvksa dk vuqikr 7 : 8 gS rFkk mudk y-l-

392 gS] rks la[;k,¡ Kkr djsaA

(A) 42, 48 (B) 49, 56

(C) 56, 64 (D) 28, 32

21. Two candidates contested in an
election. One got 55% of the votes and
won by 1500 votes. What is the number
of votes polled?

nks mEehnokj ,d pquko yM+rs gSA ,d mEehnokj dks
55% oksV feys vkSj og 1500 oksVks ls thr x;k] rks

dqy fdrus oksV Mkys x,\

(A) 150000 (B) 7500

(C) 1500 (D) 75000

22. Simplify 2
1

3
1

4
1

5






ljy djsa 
2

1
3

1
4

1
5






(A)
7

4
(B)

4

7

(C)
7

5
(D)

3

7

Direction (23–24) : In each of the
following questions, select the related
letter/word/number from the given

alternatives.

funsZ'k (23–24): fn, x, fodYiksa esa ls lacaf/r
'kCn@v{kj@la[;k dks pqfu,A

23. MP : KN : : AB : ?

(A) XY (B) Y Z

(C) ZX (D) WX

24. 72 : 53 : : 53 : ?

(A) 34 (B) 43

(C) 27 (D) 39

Direction (25–26) : Find the odd word/
letter/number from the given alternatives.

funsZ'k (34-36): fn, x, fodYiksa esa ls fo"ke
'kCn@v{kj@la[;k@la[;k ;qXe dks pqfu,A

25. (A) JKLM (B) NOPQ

(C) RSTU (D) VWXZ

26. (A) (85, 136) (B) (63, 162)

(C) (34, 85) (D) (102, 153)

27. Arrange the following words as per

order in dictionary.

fuEUkfyf[kr 'kCnksa dks 'kCndks'k es fn, x, Øe ds
vuqlkj fyf[k,A

(1) Organ (2) Origin

(4) Orient (3) Organic

(5) Organize

(A) 1, 5, 3, 4, 2 (B) 1, 5, 4, 2, 3

(C) 1, 4, 5, 3, 2 (D) 1, 4, 5, 2, 3

28. Which one set of letters when
seqentially placed at the gaps in the
given letter series shall complete it?

v{kjksa dk dkSu&lk lewg [kkyh LFkkuksa ij Øeokj j[kus
ls nh xbZ v{kj Jà[kyk dks iwjk djrh gS\

_sr_tr_srs_r_srst

(A) ttssrr (B) tsrtsr

(C) strtrs (D) tstttr

29. Find the missing number in the
following series:-

Jà[kyk esa yqIr la[;k Kkr dhft,&

43, 172, 86, 344, ?

(A) 172 (B) 172

(C) 226 (D) 186

30. Ramesh walks 20 km towards north.

From there he walks 12 km towards

south. Then he walks 6 km towards

east. How far and in which direction

is he with reference to his starting

point?

jes'k mÙkj dh vksj 20 fdeh- pyrk gSA ogka ls og
12 fdeh- nf{k.k dh vksj pyrk gSA fiQj og iwoZ dh
vksj 6 fdeh- pyrk gSA og vius izkjafHkd fcanq ds lanHkZ
esa fdruh nwj vkSj fdl fn'kk eas gS\

(A) 8 km, North-East direction/mÙkj&iwoZ fn'kk

(B) 10 km, South-West direction/

nf{k.k&if'pe fn'kk

(C) 10 km, North-East direction/mÙkj&iwoZ
fn'kk

(D) 10 km, North-East direction/

nf{k.k&if'pe fn'kk

31. M is married to B. A is father of M. B is
mother of T. B has only one daughter,
T is married to O. R is son of O. How
is B related to R?

M dh 'kknh B ls gqbZ gSA A, M dk firk gSA B, T dh
ekrk gSA B dh dsoy ,d csVh gS] T dk fookg O ls
gksrk gSA R, O dk iq=k gSA B, R ls dSls lEcfUèkr gS\

(A) Mother/ek¡

(B) Father/firk

(C) Uncle/vady

(D) Grand Mother/xzSaMenj

Direction (32-33):- Find out the missing
number from the options given in the
following questions.

funsZ'k (32&33)%& fuEufyf[kr iz'uksa esa fn, x;s fodYiksa
esa ls yqIr vad Kkr dhft,A

32. 7 21 24

12 36 39

17 ? 54

(A) 49 (B) 53

(C) 51 (D) 57

33. If "+" means "Substraction", "×" means
"Division", "÷" means "Addition" and "–
" means "Multiplication", then

;fn ‘+' dk vFkZ "?kVkuk" gS, ‘×' dk vFkZ "Hkkx" gS, ‘÷'

dk vFkZ "tksM+" gS vkSj ‘–' dk vFkZ "xq.kk" gS, rks

2 – 4 ÷ 48 × 6 + 20 = ?

(A) 4 (B) –4

(C) 6 (D) –6

Direction (34-35): In each question
below are given two/three statement
followed by two conclusion numbered
I and II. you have to take the given
statements to be true even if they seem
to be at variance with comonly known
facts. Read all the conclusions and then
decide which of the given conclusions
logically follows from the given
statements, disregarding comonly
known facts.

funsZ'k (34-35) : fn;s x, izR;sd iz'u esa nks dFku ,oa
nks fu"d"kZ I ,oa II fufgr gSA vkidks bu dFkuksa dks lR;
ekuuk gS] Hkys gh oks loZKkr rF;ksa ls fHkUu izrhr gksrs gSA
lHkh fu"d"kks± dks i<+s fiQj r; djsa fd lHkh nks dFkuksa
dks fuEufyf[kr dkSu ls fu"d"kZ rkfdZd :i ls vuqlj.k
djrs gSA

(A) if only conclusion I follows.

;fn osQoy fu"d"kZ I vuqlj.k djrk gSA

(B) if only conclusion II follows.

;fn osQoy fu"d"kZ II vuqlj.k djrk gSA

(C) if either conclusion I or II follows.

;fn ;k rks fu"d"kZ I ;k II vuqlj.k djrk gSA

(D) if neither conclusion I nor II follows.

;fn uk rks fu"d"kZ I uk gh II vuqlj.k djrk gSA

34. Statement/dFku%&

All A are B/lHkh A, B gSaA

All B are C/lHkh B, C gSaA

Some C are  D/dqN C, D gSaA

All D are E/lHkh D, E gSaA

Conclusions/fu"d"kZ%&

I. All C being A is a possibility/lHkh C

dk A gksus dh ,d lEHkkouk gSaA

II. Some B are D/dqN B, D gSaA

35. Statement/dFku%&

Some Rome are Paris.

dqN jkse] isfjl gSaA

Some Londan are Paris.

dqN yanu isfjl gSaA

No Madrid is Paris.

dksbZ esfMªM] isfjl ugha gSA
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Conclusions/fu"d"kZ%&

I. Some Rome being Madrid is a

possibility.

dqN jkse dh esfMªM gksus dh lEHkkouk gSA

II. Some Paris are Madrid.

dqN isfjl] esfMªM gSaA

36. "MISSIONS" is written as "MSIISNOS"
in a certain code language. How will
"ONLINE' be written in this code
language?

,d fof'k"V dksM Hkk"kk esa "MISSIONS" dks
"MSIISNOS" fy[kk tkrk gSA bls dksM Hkk"kk esa
"ONLINE" ds fdl izdkj fy[kk tk,xk\

(A) ONILEN (B) OLNNIE

(C) ONNLIE (D) NOILEN

37. If the day before yesterday was
saturday, what day will fall on the day
after tomorrow?

;fn dy ls igys dk fnu 'kfuokj Fkk] rks ijlksa fdl
fnu iMs+xk\

(A) Friday/'kqØokj

(B) Tuesday/eaxyokj

(C) Thursday/xq:okj

(D) Wednesday/cq¼okj

38. If a mirror is placed on line MN, then
which of the given answer shapes will
be a true reflection of the question

figure?

;fn ,d niZ.k dks MN js[kk ij j[kk tk,] rks nh xbZ
mÙkj vkÑfrvksa esa ls dkSu&lh vkÑfr iz'u vkÑfr dk
lgh izfrfcEc gksxk \

M

N

(A) (B)

(C) (D)

39. Select the diagram that gives the correct
representation of the relationship
between the sections below.

og vkjs[k pqfu, tks uhps fn, x, oxks± ds chp ds
laca/ dk lgh fu:i.k djrk gSA

Honesty, Intelligence, Aptitude.

bZekunkjh]  cqf¼ekuh] ;ksX;rk

(A) (B)

(C) (D)

40. Three different positions of a dice are
shown below. How many dots lie
opposite 2 dots?

,d iklk ds rhu vyx&vxy fLFkfr dks uhps fn[kk;k
x;k gSA 2 MkWV~l ds foifjr fdrus MkWV~l gksrs gSa\

(I) (II) (III)

(A) 5 (B) 3

(C) 6 (D) 1

41. 'Myopia' is also known as:/^ek;ksfi;k* dks
bl uke ls Hkh tkuk tkrk gS%

(A) Nearsightedness/fudVn`f"V nks"k

(B) Astigmatism/n`f"VoS"kE;

(C) Presbyopia/çslck;ksfi;k

(D) Farsightedness/nwjn`f"V nks"k

42. Which phenomenon is related to the
scattering of light by the molecules of
a medium when they are excited to
vibrational energy levels?/dkSu lh ?kVuk
,d ekè;e ds v.kqvksa }kjk çdk'k ds çdh.kZu ls lacaf/
r gS tc os daiu ÅtkZ Lrjksa rd mÙksftr gksrs gSa\

(A) Huygens effect/gkbtsal çHkko

(B) Maxwell effect/eSDlosy çHkko

(C) Raman effect/jeu çHkko

(D) Rayleigh effect/jsys çHkko

43. What is humidity?/vkæZrk D;k gS\

(A) When water vapor transfers from
air to water./tc tyok"i ok;q ls ty esa
LFkkukarfjr gksrh gSA

(B) When water vapor is present in
the air./tc ok;q esa tyok"i mifLFkr gksrh gSA

(C) When other gases move into the
air/tc vU; xSlsa gok esa LFkkukarfjr gksrh gSa

(D) When air is present in water./tc
ty esa ok;q mifLFkr gksrh gSA

44. Which of the following processes does
not require any medium for heat
transfer?/fuEufyf•r esa ls fdu rjhdksa (çØeksa)
}kjk Å"ek LFkkukarj.k ds fy, fdlh ekè;e dh

vko';drk ugha gksrh\

(A) both radiation and conduction/

fofdj.k vkSj pkyu nksuksa

(B) movement/pkyu

(C) convection/laogu

(D) radiation/fofdj.k

45. What is the atomic number of the
element Einsteinium?/rRo vkbaLVhfu;e dk
ijek.kq Øekad fdruk gS\

(A) 99 (B) 98

(C) 101 (D) 100

46. Which of the following is an example
of a pair of isosceles?/fuEufyf•r esa ls dkSu
leHkkfjd dh tksM+h dk ,d mnkgj.k gS\

(A) Chlorine and oxygen/Dyksjhu vkSj vkWDlhtu

(B) Calcium and Argon/dSfY'k;e vkSj vkxZu

(C) Oxygen and carbon/vkWDlhtu vkSj dkcZu

(D) Hydrogen and helium/gkbMªkstu vkSj ghfy;e

47. What is the atomic weight of lithium?/
fyfFk;e dk ijek.kq Hkkj D;k gS \

(A) 9.012 amu, g/mol

(B) 10.811 amu, g/mol

(C) 0.03 amu, g/mol

(D) 6.941amu, g/mol

48. What is the symbol for tin?/fVu dk çrhd
D;k gS\

(A) Sn (B) Si

(C) Ta (D) Ti

49. The microorganisms that convert dead
plants and animals into humus are
called _____./os lw{etho tks er̀ ikS/ksa vkSj tkuojksa
dks áwel esa ifjofrZr djrs gSa] &&& dgykrs gSaA

(A) producers/mRikndksa

(B) decomposers/vi?kVd

(C) Autotrophic/Loiks"kh

(D) Vegetarian/'kkdkgkjh

50. Green plants in a terrestrial ecosystem
absorb about _____ percent of the
sunlight energy falling on their leaves
and convert it into food energy./,d
LFkyh; ifjra=k esa gjs ikS/s viuh ifÙk;ksa ij iM+us okyh
lw;Zçdk'k dh ÅtkZ ds çfr'kr dks vo'kksf"kr dj ysrs gSa
yxHkx &&& vkSj bls •k| ÅtkZ esa cny nsrs gSaA

(A) 20 (B) 10

(C) 1 (D) 5

51. Which cells help in osmotic regulation
in platyhelminthes?/i`FkqÑfe (IysfVgsfYeaFkht)
esa ijklj.k fu;eu esa dkSu&lh dksf'kdk,¡ enn
djrh gSa\

(A) Nerve cells/raf=kdk dksf'kdk,¡

(B) Flame cells/Tokyk dksf'kdk,

(C) ganglion/xqfPNdk

(D) hooks/gqDl

52. ____ is not found in mitochondria./
ekbVksdkWfUMª;k e sa&&& ugha ik;k tkrk gSA

(A) Yeast/;hLV (B) Bacteria/thok.kq

(C) Algae/'kSoky (D) Fungi/dod

53. If an object moves at a non-zero
constant acceleration for a certain
interval of time, then the distance it
covers in that time.

;fn dksbZ oLrq ,d fuf'pr le; varjky ds fy,
xSj&'kwU; fLFkj Roj.k ls pyrh gS] rks ml le; esa og

fdruh nwjh r; djrh gSA

(A) Depends on its initial velocity./

blds çkjafHkd osx ij fuHkZj djrk gSA

(B) Is independent of its initial
velocity./vius çkjafHkd osx ls Lora=k gSA

(C) Increases linearly with time./le;
ds lkFk jSf•d :i ls c<+rk gSA

(D) Depends on its initial
displacement./blds çkjafHkd foLFkkiu ij
fuHkZj djrk gSA

54. A cricket ball of mass 250 kg collides
with a bat velocity 10 m/s and return
with same speed within 0.01 seconds,
the force acted on the bat is:-/250 fdyksxzke
æO;eku dh ,d fØdsV xsan 10 ehVj@lsdsaM ds osx ls
,d cYys ls Vdjkrh gS vkSj 0-01 lsdaM ds Hkhrj mlh

xfr ls okil ykSVrh gS] cYys ij yxus okyk cy gS%&
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(A) 25 N (B) 50 N

(C) 250 N (D) 500 N

55. What is EDP?/EDP D;k gS\

(A) Electronic Data Power

(B) Electronic Data Personal

(C) Electronic Data Pant

(D) Electronic Data Processing

56. By whom is the Chief Minister

appointed?/eq[;ea=kh dh fu;qfÙkQ fdlds }kjk dh
tkrh gS\

(A) President/jk"Vªifr

(B) Prime Minister/ç/kuea=kh

(C) Governor/jkT;iky

(D) Legislative Assembly Speaker/fo/ku
lHkkè;{k

57. When was the community development
program started in India?/Hkkjr esa lkeqnkf;d
fodkl dk;ZØe dh 'kq:vkr dc gqbZ Fkh\

(A) 1952 (B)1951

(C)1950 (D)1947

58. When was the Rangarajan

Committee constituted?/jaxjktu dfeVh
dc xfBr dh xbZ Fkh\

(A) 1993 AD (B) 1998 AD

(C)2003 AD (D) 2005 AD

59. Which part of the Indian Constitution

mentions the elements guiding policy

for the state?/Hkkjrh; lafo/ku dk dkSu&lk Hkkx
jkT; ds fy, uhfr&funZsf'kr djus okys rRoksa dk mYys•
djrk gS\

(A) Part-I/Hkkx&I (B)  Part-II/Hkkx&II

(C) Part-III/Hkkx&III (D) Part-IV/Hkkx&IV

60. Which of the following states is

landlocked?/fuEu esa ls dkSu&lk jkT; LFky:¼
gS\

(A) Gujarat/xqtjkr

(B) Andhra Pradesh/vka/z izns'k

(C) West Bengal/if'pe caxky

(D) Bihar/fcgkj

61. The name of the mountain of

Karakoram mountain range is/dkjkdksje
ioZr Js.kh dh ioZr uke gS&

(A) K-2/ds&2

(B) Krishnagiri/Ñ".kkfxfj

(C) Sagarmatha/lkxjekFkk

(D) Karaposhi/dkjkiks'kh

62. The largest wildlife sanctuary in India

is-/Hkkjr esa lcls cM+k oU;tho vH;kj.; gS&

(A) Ghana Bird Sanctuary/? k ku k i{k h
vH;kj.;

(B) Dachigam Sanctuary/nphxke vH;kj.;

(C) Bandipur Wildlife Sanctuary/ckUnhiqj
oU;tho vH;kj.;

(D) Periyar Wildlife Sanctuary/i sfj;kj
oU;tho vH;kj.;

63. Hippocampus is the moon of which

planet?/¶fgIiksdsEi¸ fdl xzg dk pUnzek gS\

(A) Jupiter/twihVj (B) Neptune/usIpwu

(C) Uranus/;wjsul (D) Saturn/'kfu

64. Hidden unemployment means/fNi h
csjkstxkjh ls rkRi;Z gS

(A) From unemployed persons/csjkstxkjh
O;fDr;ksa ls

(B) Due to unemployment among

housewives/x`fgf.k;ksa esa csjkstxkjh ls

(C) Unemployment among persons

above 60 years of age/60 o"kZ ls vf/d
vk;q okys O;fDr;ksa esa csjkstxkjh ls

(D) More people being engaged in a
work which can be done by fewer

people/fdlh dk;Z esa] ftldks de O;fDr dj
ldrs gSa] vf/d O;fDr;ksa dk yxs jguk

65. Micro economics is related to?/O;f"V
vFkZ'kkL=k dk laca/ gS\

(A) By the behavior of individual

economic agents/O;fDrxr vkfFkZd ,tsaVksa
ds O;ogkj ls

(B) From the understanding of the entire

economy/lEiw.kZ vFkZO;oLFkk dh le> ls

(C) A and B both/A vkSj B nksuksa

(D) None of the above/ mi;qZDr esa ls fdlh ls ugha

66. Indian nationalist leaders have
characterized the nature of economic
policies between 1880-1905 as 'the era
of economic nationalism in India'. Who

wrote this? M.G. Ranade?/¶Hkkjrh; jk"Vªoknh
usrkvksa us 1880&1905 ds eè; vkfFkZd uhfr;ksa dh
çÑfr dk ̂ Hkkjr esa vkfFkZd jk"Vªokn ds ;qx* ds :i esa
pfj=k&fp=k.k fd;k gSA¸ ,e- th- jkukMs ;g fdlus
fy•k\

(A) Bipin Chandra/fcfiu pUæ

(B) jtuh ike nÙk/Rajni Pam Dutt/

(C) nknkHkkbZ ukSjksth/Dadabhai Naoroji/

(D) vkj- lh- nÙk/R.C. Dutt/

67. Who wrote ‘Poverty and Un-British

Rule in India’?/^ikWoVhZ ,saM vu&fczfV'k :y
bu bafM;k* fdlus fy•h\

(A) Surendranath Banerjee/lqjsUæukFk cSuthZ

(B) Dadabhai Naoroji/nknkHkkbZ ukSjksth

(C) William Digby/fofy;e fMXch

(D) M.G.Ranade/ ,e- th- jkukMs

68. Who among the following started ‘Amrit

Bazaar Patrika’?/fuEufyf•r esa ls ̂ ver̀ cktkj
if=kdk* dh 'kq#vkr fdlus dh\

(A) Shishir Kumar Ghosh/f'kf'kj dqekj ?kks"k

(B) Girish Chandra Ghosh/fxjh'k paæ ?kks"k

(C) Harish Chandra Muirjee/gjh'k paæ
eq•thZ

(D) S.N.Banerjee/,l- ,u- cuthZ

69. Talcher is famous for which

mineral?/ rkypj fdl [kfut ds fy, izfl¼ gS\

(A) Coal/dks;yk

(B) Mica/vHkzd

(C) Iron production/ykSg mRiknu

(D) Bauxide/ckWDlkbM

70. Tribe Santhal does not live in this

state:/tutkfr laFkky bl jkT; esa ugha jgrh gS%

(A) Assam/vklke

(B) Jharkhand/>kj[k.M

(C) Odisha/vksfM'kk

(D) West Bengal/if'pe caxky

71. Which of the following factors causes

Ebola disease?/fuEufyf•r esa ls dkSu lk dkjd
bcksyk jksx dk dkj.k curk gS\

(A) Bacteria/cSDVhfj;k

(B) Fungi/dod

(C) Virus/ok;jl

(D) Protozoa/çksVkstksvk

72. Which of the following diseases is

caused by fungus?/fuEufyf•r esa ls dkSu&lk
jksx dod ds dkj.k gksrk gS\

(A) Ringworm/nkn

(B) Diarrhea/nLr

(C) Smallpox/pspd

(D) Polio/iksfy;ks

73. The liver is affected and the skin and

eyes become yellow due to

accumulation of bile pigments. Which

of the following digestive disorders is

described here?/;Ñr çHkkfor gksrk gS vkSj
fiÙk o.kZd tek gksus ds dkj.k Ropk vkSj vka•sa ihyh
gks tkrh gSaA fuEufyf•r esa ls fdl ikpu fodkj dk
o.kZu ;gk¡ fd;k x;k gS \

(A) Diarrhea/nLr

(B) Jaundice/ihfy;k

(C) vomiting/mYVh

(D) constipation/dCt

74. What is the other name of the disorder

called 'Parasomnia'?/^iSjklksefu;k* uked
fodkj dk nwljk uke D;k gS\

(A) Night blindness/jrkSa/h

(B) Vomiting/mYVh

(C) Sleepwalking/LyhiokWfdax

(D) Stuttering/gdykuk

75. Trachoma is a preventable disease that

results from poor sanitation and

hygiene. It affects which of the

following body parts?/Vªsdksek ,d jksdFkke
;ksX; chekjh gS tks •jkc LoPNrk vkSj liQkbZ ds
ifj.kkeLo:i gksrh gSA ;g fuEufyf•r esa ls fdl
'kjhj ds vax dks çHkkfor djrk gS\

(A) Eye/us=k

(B) Ear/dku

(C) stomach/vkek'k;

(D) heart/ân;

ss


